%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

A certain sum amount to Rs. 20720 in four years and Rs. 24080 in six years at a
certain rate of simple interest. The sum (in Rs.) is:

U (A fA AROT <A D T 3T G 1 aR auf H 20720 2. 3R I avl A
24080 %. Bl SIdl o | dg A (3. H) HT 572

a) 00
b) 000
C) ooo

0:4 5.




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Find the range of 2, 3, 5, 9, 15, 21
2.3,5,9, 15, 21 &I U J1d DIl

a)
b) °
c) °

0:4 S




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

The HCF and LCM of two numbers are 8 and 288 and one number is 32 then
find the second number.

&l TS & HedH UGS 3R dUTH JHUGAD 8 3R 288 T 3R Udh Il
32 & d9 ¢RI &7 J1d DIfoTU]

a)
b)
c)
d)




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

The ratio of lengths of base of a parallelogram and a triangle is 1 : 2 and their
area is same. Find the ratio of their corresponding heights.

Uh JHIAR AU 3R Ueb FAYS & TR Dl ddlg PI 3HUMd 1 : 2 § 3R 37D
A U g | 3! Td FHd1gdl BT 3gUrd J1d HiSig|

a) :2
b)
C) 1

d)

HAS
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Nikita takes as much time in running 18 meters as a car takes in covering 48
meters. What will be the distance covered by Nikita during the time the car

covers 1.6 km?

[Afdbdr 1 18 Hiex ars H Id-T ol THI AT © foId-1 U HR @l 48 HIcR I g3l
d B U Il g | 579 9T BR 1.6 Tl df gl 98 Sl o, 39 G [Hidbdl
GRI T DI 5 G2 HT BRII?

480m

520m

600m

800m




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Kirti starts a business with Rs. 10,000 and later Suma joined her with Rs.
30,000.After how many months did suma joined, if the profit is distributed in
equal ratio at the end of year?

@il 10,000 3T o 1Y U HIAT IR= Bl & 3R &G H AT 3P A1 30,000
S & 1Y M g1 STl ¢ | AT [ Hgi- 916 M g5, dfc ay & 3id J ard
A 3urd H faaid faar Sirdr g2

8 months

3 months

4 months

9 months




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Areservoir is filled by 2 inlets P and Q in 4 hours.Inlet P is 4 times as fast as Q.
How much time will inlet P, alone take to fill the tank?

Uh STATRM 2 HARI®ISH P 3R Q GR14 °¢ H 4R ST g | YaARIPI P, Q I 4 THT ool
g1 THI YA & (A1 3{dcl ARSI P &I [dd1 0y TT?

5 hours

6 hours

{ hours

8 hours
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The area of a circular hall is 154 hectares. Find the cost of fencing the hall at
the rate of 50 paise per meter.

Uh JAIPR Bl Dl &FABd 154 oddR o 50 U Ufd Hiex I R A gld 1 a1
eI &I AFTd J1d PIfoT|

Rs. 2200

Rs. 2000

Rs. 1500

Rs. 1800




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Sohan got 30% of the total marks in an exam and failed by 50 marks and
Mohan got 45% of the total marks in the same exam and got 25 marks more
than passing marks. Find the passing marks.

qIg-1 U URI&N H D 3l b 30% U Hdl & 3R 50 3P| I {xiI0l gl STl &
3R Ag 31 uRi&n § T 3P| b 45% UG DRl © 3R Il 3hi I 25 3
3{f¥ YT Hl g | STl 3 J1d DI

225

200

300

275




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Find the Median of given numbers: 6,4, 1,8, 5,12, 24,7,9,4
dl 11 FATSHT Bl HIEIDT J1d HIGIT: 6, 4, 1, 8,5, 12, 24,7, 9, 4

18

8.5

6.5

12

HAS




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A metal solid cube of side 22 cm is melted to make a cone of height 21 cm.
What is the radius of the base of the cone? (Take 1T = 22/7)

22 YH] YOIl & UP YT D 19 °- B! f[Tacihr 21 HI 3 dls DI UP U -1
Sl B | 2P & TR P B8 AT g2 (1 = 22/7 W)

11 cm

16.5 cm

22 cm

27.5cm

HAS
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The area of the sheet metal needed to make a box ofsize 7 cm x 8 cm X 9 cm Is:

U 7 AT x 8 Il x 9 [ & PR b 9 Dl d-4H & [¢IT 31aRTD ¢1d bl dIaR
CARAP LGS

156 cm?
382 cm?
139 cm?

412 cm?

HAS
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A mixture contains milk and water in the ratio (by volume) 5 : 3 and another
mixture of the same volume as that of the former, contains water and milk in the
ratio (by volume) 1 : 3. In what ratio, two mixture be mixed in order to obtain a
new mixture consisting of milk and water in the ratio (by volume) 7 : 37

U A0 G 3R Sd D1 U (HE S-R) 5: 3 © SR Ugd [H%01 & JHH
OTET & U R [0 H S 3R g8 BT 1d (HEAT I9R) 1: 3 Tl qY 3R ofd &

3UTd (HHET $AR) 7: 3 9 [HdDR §4 U =8 {001 I UIed HH & U 34 g
[Tr8(o1 &1 fb g 3urd o {Hid fobar S angue?




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A work can be completed by 35 workers in 30 days. If 5 workers leave after
every 10 days then in how many days will the work be completed?

30 faHl T U Br 35 YTl GRT ORI a1 Sl Gobdl o1 Afd Udd 10 fadi 1 5

-

YT DI BIS &d & dl Ig DM fdd- &A1 J U1 gIT?

50 days
40 days
35.5 days

37.5 days




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The diagonal of a square measures 6«/5 cm. The measure of the diagonal of a
square whose area is twice that of the first square is.

UFH I & [AH Ul BT AU 6+/2 JHI 51 3T T b (B[ BT HIY a1 g o]
& d Ugd 9l Bl G 572

64/2 cm
124/2 cm

12 cm

6 cm




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A woman travelling at 130% of her usual speed reached her office 12 minute
early. Her usual time to cover the journey is:

Uh Higdl 3T FH Tfd I 130% R ddd gU 12 & Ugd 319+ diied Ugdl |
A 39D 59 AHT UR A a1l 99 o

0.87 hr

0.48 hr

2 hrs

1hr




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Parikh sold his pen at a profit of Rs. 11. He calculated the profit percentage on
selling price and found it to be 25%. The cost price (in Rs.) of the pen is:

qTiRg = 3101 Hdq 11 399 & A IR &4l | 394 [dehd T IR A1y Ufd=rd o
MU DI 3R 5 25% TIAT| HaH &I Hd Hed (394 H) o

24
33

36

HAS )




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A bag contains ten rupee, five rupee and two rupee notes in the ratio 10 : 5: 2.
The total value of five rupee notes in the bag is Rs. 84 more than that of two
rupee notes. The total value of ten rupee notes in the bag (in Rs.) is:

Uh 1 H 10 :5: 2 @ YA H a9 394, Uid 394 3R al 39U & Al g | &1 H Uid
Y & HIc] Dl pd Hed, ol YT & HIC I 84 30 3D gl & H & 39 o Al
P Hd I (3T H) B:

300

400

450

350




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

After allowing a discount of 12.5% shopkeeper makes a profit of 25% on a bag.
At what percent higher than the cost price did he mark the bag? (correct to
nearest integer)

Uh d¥d IR 12.5% Pl 9 &4 D dIc U GhIHaR 25% dIH HHII g1 I a& @l
3{fhd ged, hd ged Y fba- uld=ra siieis FeiRd fabar 7ar ure (Redead gunia
dd dol)

41%

43%

38%

35%




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A certain sum amount to Rs. 20720 in four years and Rs. 24080 in six years at a
certain rate of simple interest. The sum (in Rs.) is:

U (A fA AROT <A D T 3T G 1 aR auf H 20720 2. 3R I avl A
24080 %. Bl SIdl o | dg A (3. H) HT 572

15000
14000

11000

M -




